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Unit 6 Review: Composition of Functions ’ Date: Period:

Let f(x) =2x—1, g(x) = 3%, and h(x) = 2x* — 3x + 1. Compute the following:

1) f(g( 3)) 2)  f(h®) 3) g(h(B)]L (3) 1 ( Yt
7 - M Gt Nooe ;3:}
“l .,@ | ti’“f:g ] b
4)  h(f(0) 50  g(f®) o) 6)  h(g(-9)
2 g\:il‘ff -1 e oy
1(1.%4} %(2"”‘) | kl — ”)(\ ) S"(u )
(L“K )bl g 30 o 2fo-3be)d
~g X - J_m ;{: Y4 i - ;L’} }J
{Ef‘éi: e <2 |
1) flar@)) 8 n(er®) 9)  g(r(n-6)
=T T ( 20
R | NAWY: ( ()2 (- \
Q‘ (ﬁ}{u“\\ =2 59‘4‘}‘ *ﬁi\f * \3\ . i )( \ = lg \) - 1§
SOyl U W)L 03 ()
[y Ky + 51 Ju7g ) 15u3)
\Rﬂ\_’_”dj P——
Find the inverse for each function.
10) y=3x-2 1) fE=@-2):+3 12) y= @Hf
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13) g(x)=4-2(x+1)*
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h(x)=-2x+4 15) fOO)=V3x—1+2
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Verify if the following functions are inverses of each other.

16) fO=2x-5 and gl =3x+;
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17)  fx) = ? and g(x) =3x*+2
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